REET {

BT {

= N P o IV4
T a4

T2 4L

DRFREHER RITRD LB TH 5,

IV ER s L=y FHEH
i B

}

SR

— R — 1000 — 106
— F§ — 1003 — HipkH

D TS5t RE A AL R

Sepit

2 4 2 H 15 H
T RRBR B R =

DORZHEAERFHEICME - #5106 H H
DORZRE Vs H

1. FB=FY T h—I2 XD RIERs R
(1) &= —2A FPREER AL o — A
(2) A HIRF S22 2 A 15 B 09:22 ~ 10:18
(3) FHATAEF Zef] 12~ 43  nGy/h
2. FT=HYUTR— M KD HEHRRORIE R
(1) fEHA— I
(2) &= —A AR A 2 — R
(3) FH4 H Iy SR 24 2 H 15 B 13:22 ~ 15:46
(4) FHAAE R Z2fH 3~ 8  nGy/h
7K 6 ~ 9 cps
3. F=HUUTRA NI KD IBEHRORIE R
T 7E s S
(1) P HIm H & f24 2 H 14 H 15:00 =
B S M2 2 H 15 H 16:00
)|/ (175) & 72 25 ~ 36  nGy/h
7K g8 ~ 11 cps
1 (©2%5) 7 72 16 ~ 24 nGy/h
K 21 ~ 24 cps
¥ 2 T (395°) & Zefll 200 ~ 30  nGy/h
7K T~ 10 cps
1 | R (475) ) ZEfi] 28 ~ 38  nGy/h
# K g8 ~ 12 cps
& (65 R Zef] 17 ~ 28  nGy/h
* 7K 9 ~ 12 cps
AT (65) J7) 7 35 ~ 43 nGy/h
AR (75) & Zefll 36~ 47  nGy/h
Wik R (85) &) zgfl 21 ~ 31  nGy/h
ik (975) & el 24~ 36  nGy/h
BEE0105) R/ zefll 20 ~ 27  nGy/h
4. K & HobE
5. i &
(D) KEFRFIHE 7 v =av o, SR2E2A16H (1) 1488104y, 135 3—2 LD
H#k L7z,

(2) MIERERIE, FRICELILA1E (@) (2980 L 7 APERTIR A OREE & 7l — L~ T

o,

E3F : 03-5114-2126

ARG R BT D A - T B B S s R AR R B R SR 2

AR S B 10MF~ 1215, 131~ 18K}




